Quiz Corrections						Name: __________________________________
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ACT Test Prep
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PQ, PG, PO, OP.

1. Describe what each of these symbols means:
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2. Sketch a line that contains point R between points S and 7. Which of the
following are true?

— . . <z o
A. SR is the same as ST. B. SR is the same as RT.
—. — — = X
C. RS is the same as TS. D. RS and RT are opposite rays.

- — - —
E. ST is the same as TS. F. ST is the same as 7.
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Decide whether the statement is true or false.
3. Points A, B, and C are collinear.
4. Points A, B, and C are coplanar.
5. Point F lies on DE .
6. DE lies on plane DEF.
— Pau
7. BD and DE intersect.
8. BD is the intersection of plane ABC and plane DEF.
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73. MULTIPLE CHOICE Which statement(s) are true about the two lines shown
in the drawing to the right?

1. The lines intersect in one point.
Il. The lines do not intersect.
II. The lines are coplanar.
@ Ionly @ land Donly @@ IandIIlonly
@ Il and [T only @® L, II, and I1I
74. MULTIPLE CHOICE What is the intersection of PQ and B?
@’ @P0 @PwmiQ @ Porly @ Qonly

75. MULTIPLE CHOICE Points K, L, M, and N are not coplanar. What is the
intersection of plane KLM and plane KLN?

@ KandL @ MadN @KL @ XL
@ The planes do not intersect.




